Problem: What is the relationship between the weight* of an object (in grams) and the weight (in grams) of the water displaced by the object when placed in water?
Objects to test: 

· Potato (pt)

· packaged Twinkie ©®™  (tw)

· metal  (mt)

· wood   (wd)

· rock  (rk)

· small water balloon  (swb)

· big water balloon  (bwb)

· Styrofoam (fm)

· Styrofoam with a 200 gram mass on it  (fm+)

To do and notice:

· You are to make a scatter-graph of the results where the weight of the object goes on the x-axis and the weight of the displaced water goes on the y-axis.  (the abbreviations in parentheses next to the objects are for labeling the plots on the graph)

· Make a data table before you begin. Proper setup of this table will show me you know what you are supposed to do.

· Pay close attention to the two Styrofoam trials.  There are some special things to notice and compare about those two trials. 

Questions to address:
1) Discuss your results in terms of ratios (y:x) and relate these ratios to whether the objects sank or floated.  

2) Based on your graph, how many mL’s of water are there in 3 grams of water?

3) Use these mathematical symbols: <, >, =  to describe the relationships between the two variables you tested.  

4) What is the lesson to be learned from the two trials that involved the Styrofoam?  I expect an involved answer here….

5) Mark with an “mb” on your graph where you would expect the plot point for a medium water balloon to be.  

6) What is “Archimedes Principle”?  Where did you get this answer?

* please note: you can use a TBB to measure weight in grams on the planet earth. This is because the unit of mass in the metric system (the gram) is the same as a metric unit of weight (the gram).  

